Math 229 Quiz 7a

You may use only Julia or math229.github.io — no other websites.

NAME: SOLh'MS
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Problem 1. Let f(z) = 5111(;32:) and g(z) = — for 7.5 <z < 12.
T z
a. How many times do the two curves intersect in this interval? '+

b. Find the zeros of f(z), accurate to five decimal places, in this interval.
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¢. Find the z—coordinates where f(z) and g(z) intersect in this interval, accurate
to five decimal places.
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_ cos(6z?) — 1

Problem 2. Let _f(l') = W

a. Compute the EXACT answer (symbolically) for il_}rré Fiz).
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Math 229 Quiz 7b

You may use only Julia or math229.github.io — no other websites.

NAME: Soluctiom s

_ cos(3x)
= —

1
and g(z) = —= for 6 <z < 10.2.

Problem 1. Let f(z) 5
z

L

b.  Find the zeros of f(z), accurate to five decimal places, in this interval.
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c. Find the z-coordinates where f(z) and g(z) intersect in this interval, accurate
to five decimal places.
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cos(5z?) — 1
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a. How many times do the two curves intersect in this interval?

Problem 2. Let f(z) =

a. Compute the EXACT answer (symbolically) for :lcl_r% f(z).



